1500m /MNER3~6FE BFoal (BS)

1 201 4’58 Hp FLK BEYST /N5
2 202 5'11 LI EEeE FE#ISC N6
3 208 5’18 3] .y MmN N6
4 209 5’20 itH 28 EARY— 1 N4
4 215 5’20 BRI HBE HEEFRSC N4
6 204 5’21 s B FR{AER/)N N5
7 207 5’27 BE BA BHRY5J NG
8 203 5’30 wE n4E Hh{EEER )\ IN\5
8 213 5’30 Rix & EARY— 1 /N5
10 206 5739 = BE#ISC N4
10 212 5’39 ik & fEARY—L /N5
12 205 5’41 1R KA H{EER/ )\ IN\5
13 233 5742 =B BB SRR I\G
14 217 5’46 R Y T &FEAFE 6
15 218 5’51 [REF 1% EARU=L 6
16 216 5'54 =R (R HEFRSC /NG
16 214 5’54 Ak IRz FEARY—L IN5
16 221 5’54 AN K fEARY—L /N5
19 224 6’02 =R B BAIERE = I\5
20 222 6’03 & BR SRIESC N6
21 223 6’04 RO R BHIMRE 3= v
22 225 6’07 E iR BAITHPE = IN\5
22 227 6’07 xR B EARY—L /N5
24 220 6’11 NS /NI EARY—L N6
24 210 6’11 = K MR/ N4
26 232 6’22 hH B2 EATE/N v
27 211 6’35 ZAfE  UAIKEA MBI I\5
28 229 6’44 el BaA {EARY— 1\ N4
28 230 6’44 ok &2 A RY =1 NG
30 228 737 it & EARU=L IN5

219 DNS SH BX A RY— N6

226 DNS HwH B ERTHMME = N6

231 DNS e #sk* {2 E B\ /N3




